VR 2 4 BRA bR

BT
[T 2 2Rk R [BiAEk  [JUl ] r [EAr (1) [ekr (2) [lRAXL4[53P [EAP
AR . R 24 20 24 24 24 33.6 48 48
ol b2 wAE A 16 24 24 16 33.6 40 40
JIRALE | RIS 20 12 10 20 12 28 32 32
AN AN 10 9 20 20 10 28 30 30
5|VEEF  ARE |MEE 12 16 11 16 12 22. 4 28 28
6lkE (&t [EE 11 11 16 16 11 22. 4 27 27
NER Bt R 9 10 9 10 9 14 19 19
8l BifE LBt 4 4 12 12 4 16.8 16 16.8
oldb)Il #E— |dtBhe 2 8 4 8 4 11.2 12 12
9lH o Fudh  [#HpH 4 4 3 3 4 11.2 12 12
NET = 8 0 2 8 2 11.2 10 11.2
12|57 K vE 2 4 4 4 4 5.6 8 8
1210 &M [ EIgE 2 4 4 4 4 5.6 8 8
12]fEA  EEC Ak 2 4 4 4 4 5.6 3 3
12| Kl R [RIGH 2 4 4 4 4 5.6 8 8
12K R —BR| EIRVE 2 4 4 4 4 5.6 8 8
12168 ZE R 4 0 4 4 4 5.6 3 3
REEEY ARG 4 2 4 2 5.6 6 6
18| A Ak [$57H 4 2 2 4 2 5.6 6 6
18I fim e 4 0 2 4 2 5.6 6 6
21| Hp —pk R 4 0 4 0 5.6 4 5.6
21| —%& i 4 0 4 0 5.6 4 5.6
211K & [[EES 0 4 4 0 5.6 4 5.6
211 Fle R 0 0 4 4 0 5.6 4 5.6
25|3rs  Ri [HXK 2 2 2 2 2 2.8 4 4
25[lE  BREE R 2 2 2 2 2.8 4 4
25\l &ZF | Rig 2 2 2 2 2 2.8 4 4
25| Bk} 35 K vE 2 2 2 2 2.8 4 4
25|y mok | 2 2 2 2 2.8 4 4
25|88 g et 2 0 2 2 2 2.8 4 4
25| B fEES MEA 2 0 2 2 2 2.8 4 4
PR ENTEE=2T PR T) 0 2 2 2 2 2.8 4 4
251 Uk (4570 0 2 2 2 2 2.8 4 4




